

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$20,188,564.95	\$18,736,357.98
Contributions	\$42,000.00	\$886,745.06
Withdrawals	(\$120,000.00)	(\$480,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$15,126.91	\$53,914.83
Administrative Expense	(\$276.02)	(\$1,596.44)
Investment Expense	(\$441.52)	(\$4,241.50)
Investment Manager Fees	(\$22.93)	(\$727.15)
IFA Loan Repayment	\$0.00	(\$15,065.42)
Adjustment	(\$723.52)	(\$723.52)
Realized Gain/Loss	\$50.97	\$6,399.66
Unrealized Gain/Loss	(\$283,429.60)	\$659,785.74
Ending Balance	\$19,840,849.24	\$19,840,849.24

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.84%	N/A	N/A	N/A	N/A	5.88%	06/24/2022

PROSPECT HEIGHTS POLICE FUND

Fund Name:

Transition Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$58.19	\$0.00
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$57.21)	(\$0.61)
Income	\$0.21	\$0.62
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$1.17)	(\$1.24)
Unrealized Gain/Loss	(\$0.02)	\$1.23
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	6.413	0.000
Unit Purchases from Additions	0.000	6.413
Unit Sales from Withdrawals	(6.413)	(6.413)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$9.073836	\$8.731284
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

PROSPECT HEIGHTS POLICE FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	07/07/2022

PROSPECT HEIGHTS POLICE FUND

Fund Name:

IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$20,188,506.76	\$18,734,949.44
Contributions	\$42,000.00	\$888,097.00
Withdrawals	(\$120,000.00)	(\$480,000.00)
Transfers In/Out	\$57.21	\$57.21
Income	\$15,126.70	\$53,914.21
Administrative Expense	(\$276.02)	(\$1,596.44)
Investment Expense	(\$441.52)	(\$4,241.50)
Investment Manager Fees	(\$22.93)	(\$727.15)
IFA Loan Repayment	\$0.00	(\$15,065.42)
Adjustment	(\$723.52)	(\$723.52)
Realized Gain/Loss	\$52.14	\$6,400.90
Unrealized Gain/Loss	(\$283,429.58)	\$659,784.51
Ending Balance	\$19,840,849.24	\$19,840,849.24

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	2,024,909.764	1,975,454.587
Unit Purchases from Additions	4,236.251	90,236.221
Unit Sales from Withdrawals	(12,160.131)	(48,704.924)
Ending Units	2,016,985.884	2,016,985.884
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

PROSPECT HEIGHTS POLICE FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	5.04%	07/18/2022

Statement of Transaction Detail for the Month Ending 05/31/2023

PROSPECT HEIGHTS POLICE FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(57.21)	8.919671	(6.4134)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(723.52)	9.970084	(72.5691)
05/12/2023	05/15/2023	Redemptions	(120,000.00)	9.927560	(12,087.5623)
05/17/2023	05/18/2023	Contribution	42,000.00	9.928079	4,230.4256
05/25/2023	05/26/2023	Transfers In	57.21	9.820810	5.8254